[ X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXMA/2-6800102-00001XX
Set02 Answers for No.10464

n(4d U B)=30 n(4)=24 n(B)=22
Ansl=| n(4-B)=9 n(B-A4)=11 n(4 U B)=32
n(4d U B)=33 n(4-B)=10 n((4 N B))=33

n(union(4, B, C)) =33 n(d-B)=11 nd nC)=14
Ans2 = n(C—A4)=3 n(intersect(4, C, B))=8 n((4 U B)-C)=18
n(Cn (4 UB))=10 n(C—(4 n B))=11 n(d-B-C)=3
Ans3 =[ans.1 =35, ans.2 =52, ans.3 =231, , Ans4=14, , Ans5=12
Ans6=8, , Ans7=7, , Ans8=52, , Ans9=7, , Ansl0=140

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXME /2-6800102-00002XX
Set02 Answers for No.10521

n(4d U B)=30 n(4)=19 n(B)=12
Ansl=| n(4-B)=7 n(B-A4)=14 n(4 U B)=21
n(d U B)=26 n(4-B)=9 n((4 N B))=26

n(union(4, B, C)) = 45 n(4-B)=18 n(d n C)=11
Ans2 = n(C-—A4)=5 n(intersect(4, C, B))=10 n((4 U B)-C)=21
n(C (4 UB))=6 n(C-(4 N B))=15 nd-B-C)=8
Ans3 =[ans.1 =44, ans.2 =67, ans.3=12], , Ans4=19, , Ans5=9

Ans6="7, , Ans7=8, , Ans8=45, , Ans9=20, , Ansl0=70
X Math@MUT XXXXXXXXXXXXXXXXXKXXXXXKXKXKXXXXKKXKKXXXXKKKKKXXMAE /2-6800102-00003XX
Set02 Answers for No.10794

n(4d U B)=27 n(4)=18 n(B)=19
Ansl=| n(4-B)=7 n(B-A4)=6 n(4 U B)=33
n(d U B)=25 n(A4-B)=14 n((4 N B))=25

n(union(4, B, C)) =33 n(4-B)=18 n(d n C)=18
Ans2 = n(C—A4)=3 n(intersect(4, C, B))=10 n((4 U B)—-C)=22
n(C N (4 UB))=0 n(C-(4 N B))=13 nd-B-C)=8
Ans3 =[ans.1 =37,ans.2=159,ans.3=16], , Ans4=13, , Ans5=19
Ans6=11, , Ans7=5, , Ans8=43, , Ans9=1, , Ansl0=160

X Math@MUT XXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXX XXX XXXXKXXXKXKXKXKXXME /2-6800102-00004XX
Set02 Answers for No.11835

n(d U B)=32 n(4)=17 n(B)=18
Ansl=| n(A-B)=9 n(B-4)=8 n(4 U B)=33
n(d U B)=26 n(A4-B)=15 n((4 n B))=26

n(union(4, B, C)) = 38 n(4-B)=10 nd nC)=5
Ans2 = n(C-—A4)=6 n(intersect(4, C, B))=10 n((4 U B)-C)=11
n(Cn (4 uUB))=10 n(C-(4n B))=16 n(d-B-C)=0
Ans3 =[ans.1 =36, ans.2 =153, ans.3=14], , Ans4=12, , Ans5=15

Ans6=14, , Ans7=6, , Ans8=26, , Ans9=20, , Ansl0=160
X [Page = 0001] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKXXXXXKKKKKXXXXKKKKKXXKKK




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM4E /2-6800102-00005XX
Set02 Answers for No.12154

n(4d U B)=32 n(4)=20 n(B)=15
Ansl=| n(4-B)=6 n(B-A)=11 n(4 U B)=30
n(4d U B)=26 n(4-B)=15 n((4 N B))=26

n(union(4, B, C)) =27 n(d-B)=7 nd N C)=13
Ans2 = n(C-A4)=9 n(intersect(4, C, B))=5 n((4 U B)-C)=16
n(C (4 UB))=0 n(C-(4 N B))=14 nd-B-C)=2
Ans3 =[ans.1 =30, ans.2 =53, ans.3 =231, , Ans4=23, , Ans5=7
Ans6 =11, , Ans7=0, , Ans8§=44, , Ans9=12, , Ansi0=0

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXME /2-6800102-00006XX
Set02 Answers for No.12193

n(4d U B)=30 n(4)=13 n(B)=18
Ansl=| n(A-B)=10 n(B-A4)=5 n(d4 U B)=33
n(4d UB)=23 n(4-B)=15 n((4 N B))=23

n(union(4, B, C)) = 49 n(4-B)=10 n(d N C)=18

Ans2 = n(C—-A4)=17 n(intersect(4, C, B))=1 n((4 U B)—-C)=21
n(C (4 UB))=8 n(C-(4n B))=18 nd-B-C)=9
Ans3 =[ans.1 =35, ans.2 =153, ans.3=26], , Ans4=12, , Ans5=11
Ans6=14, , Ans7=2, , Ans8=43, , Ans9=24, , Ansl0=140

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM4E /2-6800102-00007XX
Set02 Answers for No.12681

n(4d U B)=39 n(4)=24 n(B)=27
Ansl=| n(A-B)=14 n(B-A4)=11 n(4 U B)=41
n(d U B)=38 n(A4-B)=14 n((4 n B))=38

n(union(4, B, C)) =33 n(4-B)=10 n(d n C)=11
Ans2 = n(C—-A4)=7 n(intersect(4, C, B))=1 n((4 U B)—-C)=24
n(Cn (4 UB))=10 n(C-(4 n B))=38 nd-B-C)=9
Ans3 =[ans.1 =29, ans.2 =49, ans.3=13], , Ans4=9, , Ans5=22
Ans6=14, , Ans7=2, , Ans8=41, , Ans9=10, , Ansl0=160

X Math@MUT XXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXX XXX XXXXKXXXKXKXKXKXXMEL /2-6800102-00008XX
Set02 Answers for No.13021

n(4d U B)=28 n(4)=17 n(B)=16
Ansl=| n(4-B)=8 n(B-4)=9 n(d4 U B)=27
n(d U B)=25 n(A4-B)=11 n((4 n B))=25

n(union(4, B, C)) =33 n(d-B)=4 n(d N C)=10

Ans2 = n(C—A4)=10 n(intersect(4, C, B))=4 n((4 U B)-C)=10
n(Cn (4 UB))=9 n(C-(4 N B))=14 n(d-B-C)=0
Ans3 =[ans.1 =36, ans.2 =63, ans.3=27], , Ans4=22, , Ans5=20
Ans6=10, , Ans7=0, , Ans8=41, , Ans9=1, , Ansl0=140

X [Page = 0002] XXXXXXXXXXXXXXKKKXKXKXKXXXKXKXKXKKKKKKKKXKXKKKXKKKXXX XXX XXX XXX XXKXXKKKKKXK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXM4E /2-6800102-00009XX
Set02 Answers for No.13661

n(4d U B)=35 n(4)=21 n(B)=16
Ansl=| n(A-B)=9 n(B-A)=14 n(4 U B)=28
n(4d U B)=30 n(4-B)=12 n((4 n B))=30

n(union(4, B, C)) =31 n(d-B)=38 nd N C)=13
Ans2 = n(C-A4)=7 n(intersect(4, C, B))=2 n((4 U B)—-C)=14
n(C (4 UB))=9 n(C—(4n B))=9 nd-B-C)=6
Ans3 =[ans.1 =33, ans.2 =44, ans.3=21], , Ans4=9, , Ans5=20
Ans6=15, , Ans7=3, , Ans8=42, , Ans9=15, , Ansl0=70

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXM4L /2-6800102-00010XX
Set02 Answers for No.13811

n(4d U B)=33 n(4)=12 n(B)=20
Ansl=| n(4-B)=15 n(B-A4)=7 n(4 v B)=31
n(4d U B)=27 n(4-B)=11 n((4 N B))=27

n(union(4, B, C)) =38 n(d-B)=38 nd n C)=11
Ans2 = n(C-A4)=9 n(intersect(4, C, B))=0 n((4 U B)-C)=19
n(C (4 UB))=9 n(C—(4n B))=9 n(d-B-C)=8
Ans3 =[ans.1 =30, ans.2 =52, ans.3=23], , Ans4=8, , Ans5=17
Ans6=17, , Ans7=10, , Ans8=42, , Ans9=24, , Ansl0=140

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM4E /2-6800102-00011XX
Set02 Answers for No.14080

n(4d U B)=30 n(4)=26 n(B)=20
Ansl=| n(A-B)=5 n(B-A4)=11 n(4 U B)=34
n(d U B)=31 n(4-B)=14 n((4 n B))=31

n(union(4, B, C)) =31 n(d-B)=38 nd nC)=12

Ans2 = n(C-A4)=5 n(intersect(4, C, B))=3 n((4 U B)—C)=13
n(C (4 UB))=2 n(C—(4 N B))=8 n(Ad-B-C)=5
Ans3 =[ans.1 =45, ans.2 =159, ans.3=20], , Ans4=15, , Ans5=11
Ans6 =12, |, Ans7=4, , Ans8=42, , Ans9=2, , Ansl0=160

X Math@MUT XXXXXXXXXXXXXXXXXKXXXXXXXXX XXX XXXXKXXXXXXKXXXXKXKXKXXME /2-6800102-00012XX
Set02 Answers for No.14306

n(4d U B)=23 n(4)=13 n(B)=17
Ansl=| n(4-B)=9 n(B-A4)=5 n(4d v B)=26
n(d U B)=22 n(4-B)=9 n((4 N B))=22

n(union(4, B, C)) = 46 n(4-B)=19 n(d n C)=12
Ans2 = n(C—A4)=12 n(intersect(4, C, B))=10 n((4 U B)-C)=16
n(Cn (4 UB))=2 n(C—(4 N B))=22 n(d-B-C)=9
Ans3 =[ans.1 =36, ans.2=47,ans.3=13], , Ans4=17, , Ans5=11

Ans6=5, , Ans7=9, , Ans8=33, , Ans9=24, , Ansl0=130
X [Page = 0003] XXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXKKXXXXXKKKKXXXXKKKKKXXXKK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXME /2-6800102-00013XX
Set02 Answers for No.14438

n(4d U B)=34 n(4)=23 n(B)=20
Ansl=| n(A-B)=9 n(B-4)=12 n(4 v B)=33
n(4d U B)=32 n(4-B)=13 n((4 N B))=32

n(union(4, B, C)) =35 n(d-B)=11 nd nC)=7
Ans2 = n(C—A4)=8 n(intersect(4, C, B))=6 n((4 U B)-C)=8
n(C (4 UB))=10 n(C—(4 N B))=14 nd-B-C)=5
Ans3 =[ans.1 =28, ans.2 =48, ans.3=13], , Ans4=11, , Ans5=3
Ans6=11, , Ans7=5, , Ans8=35, , Ans9=6, , Ansl0=70

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXM4E /2-6800102-00014XX
Set02 Answers for No.14778

n(4 U B)=36 n(4)=23 n(B)=25
Ansl=| n(A-B)=15 n(B-4)=13 n(4 U B)=33
n(d U B)=38 n(4-B)=8 n((4 N B))=38

n(union(4, B, C)) =31 n(d-B)=5 nd n C)=14
Ans2 = n(C—-A4)=7 n(intersect(4, C, B))=3 n((4 U B)—C)=20
n(C (4 UB))=7 n(C-(4 N B))=10 nd-B-C)=2
Ans3 =[ans.1 =37,ans.2=57,ans.3=19], , Ans4=12, , Ans5=8
Ans6=11, , Ans7=9, , Ans8=39, , Ans9=6, , Ansl0=100

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXM4E /2-6800102-00015XX
Set02 Answers for No.14801

n(4d U B)=24 n(4d)=15 n(B)=11
Ansl=| n(4-B)=6 n(B—A4)=10 n(4 U B)=19
n(d U B)=21 n(4-B)=8 n((4 n B))=21

n(union(4, B, C)) =52 n(d-B)=13 n(d n C)=11
Ans2 = n(C—A4)=14 n(intersect(4, C, B))=9 n((4 U B)-C)=18
n(C (4 UB))=10 n(C—(4 N B))=23 nd-B-C)=4
Ans3 =[ans.1 =33, ans.2=54,ans.3=18], , Ans4=17, , Ans5=14
Ans6=14, , Ans7=2, , Ans8=48, , Ans9=3, , Ansl0=120

X Math@MUT XXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXXXXKXXXKXXXKXKXKXKXXME /2-6800102-00016XX
Set02 Answers for No.14809

n(4d U B)=26 n(4)=13 n(B)=12
Ansl=| n(A4-B)=5 n(B-4)=6 n(4 U B)=27
n(d U B)=18 n(A4-B)=15 n((4 n B))=18

n(union(4, B, C)) = 42 n(4d-B)=16 n(d n C)=12
Ans2 = n(C—A4)=20 n(intersect(4, C, B))=10 n((4 U B)-C)=15
n(Cn (4 UB))=3 n(C—(4 N B))=30 nd-B-C)=6
Ans3 =[ans.1 =37, ans.2=62,ans.3=27], , Ans4=17, , Ans5=13
Ans6="7, , Ans7=8, , Ans8=31, , Ans9=7, , Ansl0=60

X [Page = 0004] XXXXXXXXXXXXXXKKKXKKXXKXXXKXKXKKKKKKKKKKKKXKXKKXXXXX XXX XX XXX XKXXKKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXME /2-6800102-00017XX
Set02 Answers for No.14998

n(4d U B)=36 n(4)=24 n(B) =30
Ansl=| n(A-B)=15 n(B-4)=9 n(d U B)=42
n(4d U B)=39 n(4-B)=12 n((4 N B))=39

n(union(4, B, C)) = 36 n(d-B)=4 n(d N C)=10

Ans2 = n(C-A4)=15 n(intersect(4, C, B))=0 n((4 U B)—C)=13
n(C (4 UB))=4 n(C-(4 N B))=15 nd-B-C)=4
Ans3 =[ans.1 =48, ans.2 =61, ans.3=15], , Ans4=17, , Ans5=22
Ans6=11, , Ans7=1, , Ans8=41, , Ans9=4, , Ansl0=150

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXM4E /2-6800102-00018XX
Set02 Answers for No.15002

n(4d U B)=27 n(4)=20 n(B)=22
Ansl=| n(4-B)=8 n(B-A4)=6 n(4 U B)=35
n(4d U B)=28 n(4-B)=13 n((4 N B))=28

n(union(4, B, C)) =25 n(d-B)=11 nd nC)=1

Ans2 = n(C-A)=2 n(intersect(4, C, B))=5 n((4 U B)—-C)=11
n(C (4 UB))=6 n(C—(4n B))=7 nd-B-C)=6
Ans3 =[ans.1 =42, ans.2 =57, ans.3=25], , Ans4=12, , Ans5=17

Ans6="7, , Ans7=9, , Ans8=26, , Ans9=10, , Ansl0=120
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXM4E /2-6800102-00019XX
Set02 Answers for No.15007

n(4d U B)=21 n(4)=16 n(B)=14
Ansl=| n(4-B)=6 n(B-A4)=8 n(4 U B)=21
n(d U B)=22 n(A4-B)=7 n((4 N B))=22

n(union(4, B, C)) =50 n(d-B)=14 n(d nC)=13
Ans2 = n(C-A4)=17 n(intersect(4, C, B))=10 n((4 U B)-C)=13
n(C N (4 UB))=7 n(C-(4 N B))=27 nd-B-C)=4
Ans3 =[ans.1 =41, ans.2 =56, ans.3=16], , Ans4=7, , Ans5=15
Ans6 =12, , Ans7=7, , Ans8§=31, , Ans9=10, , Ansi0=0

X Math@MUT XXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXX XXX XXXXKXXXXKXXKXXMEL /2-6800102-00020XX
Set02 Answers for No.10686

n(4 U B)=30 n(4)=16 n(B)=19
Ansl=| n(A-B)=12 n(B-4)=9 n(4 U B)=28
n(d U B)=28 n(A4-B)=9 n((4 N B))=28

n(union(4, B, C)) =29 n(d-B)=11 n(d N C)=13

Ans2 = n(C-A)=2 n(intersect(4, C, B))=3 n((4 U B)-C)=25
n(Cn (4 UB))=2 n(C-(4 N B))=5 n(d-B-C)=8
Ans3 =[ans.1 =33, ans.2 =46, ans.3=23], , Ans4=16, , Ans5=15
Ans6=11, , Ans7=8, , Ans8=50, , Ans9=10, , Ansl0=160

X [Page = 0005] XXXXXXXXXXXXXXKKKXKXKXKXXKXXKXKXKKKKKKKKKXKKKXKXKKXKXXKXXX XXX XXX XXXXXKKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXM4L /2-6800102-00021XX
Set02 Answers for No.10870

n(d U B)=22 n(d)=17 n(B)=19
Ansl=| n(4-B)=9 n(B-4)=7 n(d4d U B)=25
n(d UB)=26 n(Ad-B)=6 n((4 n B))=26

n(union(4, B, C)) =35 n(d-B)=17 nd nC)=6

Ans2 = n(C—A)=14 n(intersect(4, C, B))=5 n((4 U B)—C)=5
n(C N (4 UB))=7 n(C-(4n B))=19 nd-B-C)=2
Ans3 =[ans.1 =49, ans.2 =61, ans.3=15], , Ans4=12, , Ans5=14

Ans6=15, , Ans7=6, , Ans8=58, , Ans9=20, , Ansl0=50
X Math@MUT XXXXXXXXXXXXXXXXXKXXXXXKXKXKXXXXKKKKKXXXXKKKKKXXMAE /2-6800102-00022XX
Set02 Answers for No.11881

n(4d U B)=28 n(4)=23 n(B)=17
Ansl=| n(A-B)=6 n(B-4)=12 n(d U B)=27
n(d U B)=29 n(4-B)=10 n((4 N B))=29

n(union(4, B, C)) =18 n(d-B)=9 nd n C)=11

Ans2 = n(C-A)=2 n(intersect(4, C, B))=8 n((4 U B)—-C)=14
n(C (4 UB))=3 n(C-(4 N B))=10 nd-B-C)=1
Ans3 =[ans.1 =26, ans.2 =44, ans.3=19], , Ans4=17, , Ans5=26

Ans6=6, , Ans7=9, , Ans8=59, , Ans9=22, , Ansl0=10
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM4E /2-6800102-00023XX
Set02 Answers for No.11956

n(4d U B)=27 n(4)=19 n(B)=26
Ansl=| n(4-B)=13 n(B-A4)=6 n(4 U B)=34
n(d U B)=32 n(4-B)=8 n((4 n B))=32

n(union(4, B, C)) =29 n(d-B)=9 nd nC)=12

Ans2 = n(C—-A4)=7 n(intersect(4, C, B))=6 n((4 U B)—C)=20
n(C (4 UB))=4 n(C-(4 N B))=13 n(d-B-C)=3
Ans3 =[ans.1 =38, ans.2=62,ans.3=15], , Ans4=20, , Ans5=17
Ans6 =11, , Ans7=4, , Ans8§=46, , Ans9=12, , Ansl0=160

X Math@MUT XXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXKXXXKXXXXXXKXKXKXKXXMEL /2-6800102-00024XX
Set02 Answers for No.13828

n(d U B)=34 n(4)=15 n(B)=19
Ansl=| n(4-B)=12 n(B-4)=8 n(4 U B)=33
n(d U B)=27 n(A4-B)=14 n((4 n B))=27

n(union(4, B, C)) = 36 n(d-B)=14 nd nC)=5

Ans2 = n(C—-A4)=7 n(intersect(4, C, B))=5 n((4 U B)-C)=18
n(Cn (4 UB))=5 n(C-(4n B)=12 n(d-B-C)=9
Ans3 =[ans.1 =45, ans.2 =65, ans.3=18], , Ans4=21, , Ans5=19
Ans6=13, , Ans7=1, , Ans8=37, , Ans9=11, , Ansl0=70

X [Page = 0006] XXXXXXXXXXXXXXKKKXKKXKXKXXXKXKXKKKKKKKKKKKKXKXKKXKXX XXX XXX XXX XXKXXKKKKKXK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXME /2-6800102-00025XX
Set02 Answers for No.13919

n(4d U B)=33 n(4)=22 n(B)=29
Ansl=| n(A-B)=14 n(B-A4)=7 n(4d U B)=41
n(4d U B)=36 n(4-B)=12 n((4 n B))=36

n(union(4, B, C)) =31 n(d-B)=12 n(d N C)=10
Ans2 = n(C—A)=2 n(intersect(4, C, B))=10 n((4 U B)—C)=20
n(C N (4 UB))=5 n(C-—(4n B))=12 nd-B-C)=2
Ans3 =[ans.1 =41, ans.2 =67,ans.3=17], , Ans4=21, , Ans5=17

Ans6=16, , Ans7=5, , Ans8=38, , Ans9=16, , Ansl0=70
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXM4L /2-6800102-00026XX
Set02 Answers for No.13932

n(4d U B)=33 n(4)=21 n(B)=23
Ansl=| n(A-B)=10 n(B-4)=8 n(4 U B)=38
n(4 U B)=31 n(4-B)=15 n((4 n B))=31

n(union(4, B, C)) =20 n(d-B)=9 nd nC)=12
Ans2 = n(C—-A)=4 n(intersect(4, C, B))=3 n((4 U B)—C)=13
n(C (4 UB))=0 n(C—(4n B))=7 nd-B-C)=6
Ans3 =[ans.1 =42, ans.2 =68, ans.3=13], , Ans4=20, , Ans5=13
Ans6=11, , Ans7=7, , Ans8=40, , Ans9=4, , Ansl0=40

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXM4E /2-6800102-00027XX
Set02 Answers for No.14871

n(d U B)=37 n(4)=22 n(B)=15
Ansl=| n(4-B)=8 n(B-A4)=15 n(4 U B)=29
n(d U B)=30 n(A4-B)=14 n((4 n B))=30

n(union(4, B, C)) =39 n(d-B)=12 nd nC)=9
Ans2 = n(C—A4)=16 n(intersect(4, C, B))=8 n((4 U B)—C)=13
n(C N (4 UB))=5 n(C-(4 N B))=24 nd-B-C)=4
Ans3 =[ans.1 =35, ans.2 =54, ans.3=25], , Ans4=20, , Ans5=19
Ans6 =5, , Ans7=2, , Ans8=57, , Ans9=12, , Ansli0=30

X Math@MUT XXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXKXXXXXXXXXKXKXXKXXMEL /2-6800102-00028XX
Set02 Answers for No.14982

n(4d U B)=31 n(4)=24 n(B)=26
Ansl=| n(A-B)=14 n(B-4)=12 n(4 U B)=31
n(d U B)=38 n(d-B)=5 n((4 N B))=38

n(union(4, B, C)) =32 n(d-B)=14 nd nC)=12
Ans2 = n(C-A4)=6 n(intersect(4, C, B))=4 n((4 U B)—-C)=21
n(Cn (4 UB))=9 n(C-(4 n B))=10 n(4d-B-C)=10
Ans3 =[ans.1 =26, ans.2 =44, ans.3 =221, , Ans4=15 , Ans5=13
Ans6=12, , Ans7=4, , Ans8=155, , Ans9=6, , Ansl0=50

X [Page = 0007] XXXXXXXXXXXXXXKKKXKXKXKXXKXKXKXKXKKKKKKKKXKKKKKKKXKXX XXX XXX XXX XXKXXKKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXME /2-6800102-00029XX
Set02 Answers for No.15010

n(4d U B)=26 n(4)=19 n(B)=21
Ansl=| n(4-B)=9 n(B-A4)=7 n(4du B)=31
n(4d U B)=28 n(4-B)=10 n((4 N B))=28

n(union(4, B, C)) =31 n(d-B)=17 nd N C)=3
Ans2 = n(C-A4)=16 n(intersect(4, C, B))=3 n((4 U B)-C)=9
n(C N (4 UB))=6 n(C-—(4n B))=19 nd-B-C)=4
Ans3 =[ans.1 =27,ans.2 =54, ans.3 =221, , Ans4=11, , Ans5=8

Ans6=14, , Ans7=6, , Ans8=55, , Ans9=8, , Ansl0=140
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM4E /2-6800102-00030XX
Set02 Answers for No.15013

n(4d U B)=31 n(4)=20 n(B) =24
Ansl=| n(A-B)=15 n(B-A4)=11 n(4 U B)=29
n(d4d U B)=35 n(4-B)=5 n((4 n B))=35

n(union(4, B, C)) =32 n(4-B)=13 nd n C)=11
Ans2 = n(C-A4)=8 n(intersect(4, C, B))=6 n((4 U B)—C)=10
n(C (4 UB))=3 n(C-(4 N B))=14 nd-B-C)=17
Ans3 =[ans.1 =38, ans.2=060,ans.3=15], , Ans4=12, , Ans5=21
Ans6=6, , Ans7=2, , Ans8=53, , Ans9=11, , Ansl0=0
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